1) Probability mass function of a random variable is given as:

(01 == -2
03 z—-1
P(X=2)=4{01 =0
02 z—1
03 z=2

letY = X(X?-1)(X —2)

Find the range of Y.
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2) Probability mass function of a random variable is given as:

(01 z—= -2
0.3 z=-1
P(X=z2)=1401 z=0
0.2 z=1
\0.3 =2

LetY = X(X? —1)(X — 2).

Find the value of P(Y= 24).

P(Y = 24) = Plx=-2) = o.)
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Success,
Find the range of f(X).
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4) Let X ~ Geometric(p) and

I . .
= if x is an even number
f(z) = { :

41 . .
= ifzis an odd number

Find the probability that f(X) = k
where k is in the range of f(X).
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